Exercice  35
Pose  et  calcule  la  division  :  45  ÷  6
Puis,  complète  l’opération  en  ligne.  
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45  ÷  6  c’est  ( 6  x  [   ] )  +  [   ]  =  45


Exercice  35
Pose  et  calcule  la  division  :  287  ÷  8
Puis,  complète  l’opération  en  ligne.  
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287  ÷  8  c’est  ( 8  x  [   ] )  +  [   ]  =  287
Exercice  35
Pose  et  calcule  la  division  :  157  ÷  5
Puis,  complète  l’opération  en  ligne.  
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157  ÷  5   c’est  ( 5  x  [   ] )  +  [   ]  =  157
Exercice  35
Pose  et  calcule  la  division  :  394  ÷  4
Puis,  complète  l’opération  en  ligne.  
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394  ÷  4   c’est  ( 4  x  [   ] )  +  [   ]  =  394

